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1. a)  What is the difference between #define and const? Explain with suitable example.
          2

b)  Name the header files that will be needed for the following code:
           
2


void main( )

{

int t;

t = getch( );

if ( t < 72 )

exit( 0 );



       else




t = ceil( t / 3 );



       cout<<t;

}

c) 
#include<iostream.h>
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# include <conio.h>

void main()

{

clrscr();

int sum(int(*)(int),int);

int square(int);

int cube(int);

cout<<sum(square,4)<<endl;

cout<<sum(cube,4)<<endl;

getch();

}

int sum(int(*ptr)(int k),int n)

{

int s=0;

for(int i=1;i<=n;i++)

{

s+=(*ptr)(i);

}

return s;

}

int square(int k)

{

 int sq;

sq=k*k;

return k*k;

}

 
int cube(int k)

{

return k*k*k;

}


d)
#include<iostream.h>
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#include<string.h>

void main()

{ char *name;

int l=0;

name = "Windows98";

l = strlen(name);

cout<<endl;

for (int asc=90;asc>=65;asc--)

{ for(int i=0;i<l;i++)

{

if(name[i]==char(asc)||(name[i]==char(asc+32)))

cout<<name[i];

} }

cout<<endl; }

e)
In the following program, if test value of n given by the user is 20, what maximum and minimum values the program could possibly display?
2


#include<iostream.h>

#include<stdlib.h>

void main()

{

int n, guessnum;

randomize( );

cin>>n;

guessnum = random( n -10 ) + 10;

cout<<guessnum<<endl;

 }

f)
Rewrite the following program after removing the syntactical error(s). Underline each correction.
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#include<iostream.h>

#include<stdio.h>


class Mystudent

{


int studentid = 1001;


char name[20];

public


Mystudent() { }


void Register( ) {



cin>>studentid; gets(name) ; }


void display( ) 


{ 


cout<<studentid<<<<” ; “<<name<<endl;


}

2
a.
 Answer the questions (i) and (ii) after going through the following program 
2 

#include<iostream.h> 

#include<string.h> 

class Bazar 

{

char Type[20]; 

char Product[20]; 

int Qty; 

float Price; 

Bazar ( ) //Function 1 

{ 

strcpy (Type, “Electronic”); 

strcpy (Product, “Calculator”);

Qty=10; 

Price=225; 

}

public: 

void Disp ( ) / / Function 2 

{

cout<<Type<<“-”<<Product<<“:”<<Qty 

<<“@” <<Price<<endl; 

}

}; 

void main ( ) 

{

Bazar B; 

/ /Statement 1 

B. Disp ( ); 

/ / Statement 2 

}

i) 
Will Statement 1 initialize all the data members for object B with the 

values given in the Function I? (Yes or No). Justify your answer 

suggesting the correction(s) to be made in the above code. 

ii)
 What shall be the possible output when the program gets executed? 

(Assuming, if required - the suggested correction(s) are made in the 

program) 


b.
Define a class BALANCED_MEAL in C++ with following description: 4

Private Members:

Access number 
Integer

Name of Food 
String of 25 characters

Calories 

Integer

Food type 

String

Cost 


Float

AssignAccess( ) 
Generates random numbers between 0 to 99 and return it.

Public Members

· A function INTAKE( ) to allow the user to enter the values of Name of Food,Calories, Food type cost and call function AssignAccess() to assign Access number.

· A function OUTPUT( ) to allow user to view the content of all the data 
members, if the Food type is fruit.

c) 
Consider the following declarations and answer the questions given below:      4

class Mydata

{ protected:

int data;

public:

void Get_mydata(int);

void Manip_mydata(int);

void Show_mydata(int);

Mydata( );

~Mydata( ); };

class Personal_data

{

protected:

int data1;

public:

void Get_personaldata(int);

void Show_personaldata(int);

Mydata1( );

~Mydata1( ); };

class Person: public Mydata, Personal_data

{

public:

void Show_person(void);

person( );

~person( ); };

i)  How many bytes will be required by an object belonging to class Person?

ii)  Which type of inheritance is depicted in the above example?

iii) 
List the data members that can be accessed by the member function Show_person( )

iii) What is the order of constructor execution at the time of creating an object of class Person?

3
a.
Write a function that calculate the average word size in a text file 

“REPORT.TXT” where each word is separated by a single space or full stop.   2


b.
 Observe the program segment given below carefully, and answer the question 

that follows: 
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class Applicant 

{ 

long AId; 


//Applicant’s Id 

char Name [20] ;

 //Applicant’s Name 

float Score; 


//Applicant’s Score 

public: 

void Enroll ( ); 

void Disp ( ) ; 

void MarksScore ( ); 

/ /Function to change Score 

long R_AId () {retumAId;) 

} ; 

void ScoreUpdate (long Id) 

{ 

fstream File; 

File.open (“APPLI.DAT”,ios::binary|ios::in|ios::out); 

Applicant A; 

int Record = 0, Found = 0 ; 

while (!Found && File.read((char*) &C, sizeof(c))) 

{ 

if(Id ==A.R_AId ( )) 

{

cout<<”Enter new Score” ; 

A.MarksScore ( ); 

______________

 / / Statement 1 

______________ 

/ /Statement 2 

Found = 1; 

}

Record ++; 

}

if (Found ==1) cout<<”Record Updated”; 

File.close ( ) ; 

}

Write the Statement1 to position the File Pointer at the beginning of the Record for 

which the Applicant’s ld matches with the argument passed, and Statement2 to 
write the updated Record at that position.

c.
Assuming the class Vehicle as follows: 





3

class vehicle 

{ 
char vehicletype[10]; 

int no_of wheels; 

public: 

void getdetails() 

{ gets(vehicletype); 

cin>>no_of_wheels; 

}

void showdetails()] 

{ cout<<”Vehicle Type”<<vehicletype; 

cout<<”Number of Wheels=”<<no_of_wheels; 

} 

} 

Write a function showfile() to read all the records present in an already exiting binary file SPEED.DAT and display them on the screen ,also count the number of records present in the file.

4
a.
Write a function in C++ to combine the contents of two equi-sized arrays A and B 
by computing their corresponding elements with the formula 2*A[i]+3*B[i]; where value i varies from 0 to N-1 and transfer the resultant content in the third same sized array.
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b.
An array P[20][30] is stored in the memory along the column with each of the 
element occupying 4 bytes, find out the memory location for the element P[5][15], if an element P[2][20] is stored at the memory location 5000.
3


c.
Write a function in C++ to sort an integer array of 10 elements using selection 

sort. 









2


d.
Give the necessary declarations of a linked list implementation queue containing 

integer type elements . Also write a user defined function in C++ to delete an 

integer type number from the queue.





3

e.
Evaluate the following using stack 5, 3, 2, 4, +, 5, *, +, 6, +, -


3

f)
Write a function which accepts an integer and its size as arguments and assigns the 

elements of a 2 – D array as follows.





3

1
2
3


1
2
3


4
5
6


4
5
0


7
8
9


7
0
0

5
a
What are Views? What happens if we try to drop a table in which a view exists?
1


b.
What is a foreign key and what is its use?




1

c.
Write SQL commands for i) to iv) and the outputs for v) on the basis of tables MOVIES










6

	MOVIES


	
	
	
	
	

	No
	Title
	Type 
	Rating
	Star
	Qty
	Price

	1
	Australia


	Comedy
	G
	Nicole Kidman
	4
	35.95

	2
	The Reader
	Comedy
	R
	Jason
	2
	69.95

	3
	The Dark Knight
	Action
	PG
	Heath Ledger
	7
	49.95

	4
	Slum Dog Millionaire
	Drama
	G
	Anil Kapoor
	3
	29.95

	5
	Frost/Nixon
	Drama
	R
	Frank Langella
	3
	19.95

	6
	The Curious Case of Benjamin Button
	Drama
	G
	David Fincher
	2
	44.95

	7
	Revolutionary Road
	Drama
	PG
	Kate Winslet
	2
	31.95

	8
	Crocodile Business
	Comedy
	PG13
	Harris
	2
	69.95

	9
	Michael Clayton
	Action
	R
	 George Clooney
	3
	99.95

	10
	No Country for Old Men
	Action
	R
	Javier Bardem
	1
	29.95


	i)     Display a list all movies with Price over 20 and sorted by Price.

	ii)    Display all the movies sorted by QTY in decreasing order.

	iii)   Display a report listing a Title, current price and replacement value for each movie as Qty * Price * 1.15

	iv)   Display all the movies and their price whose type is Drama.

v)   Give the outputs for the following statements.

       a) SELECT AVG(Price) FROM MOVIES WHERE Price < 30;

       b) SELECT MAX(Price) FROM MOVIES WHERE Price > 30;

       c)  SELECT SUM(Price * Qty) FROM MOVIES WHRE Qty < 4;

       d)  SELECT COUNT(DISTINCT TYPE) FROM MOVIES;

	

	


6 
a.
State and algebraically verify Absorption Laws. 


2

b.
 Write the equivalent Boolean Expression for the following Logic Circuit 2
[image: image1.png]



c
 Write the SOP form of a Boolean function G, which is represented in a truth table as follows: 






1

	P
	Q
	R
	G

	0
	0
	0
	0

	0
	0
	1
	0

	0
	1
	0
	1

	0
	1
	1
	0

	1
	0
	0
	1

	1
	0
	1
	0

	1
	1
	0
	1

	1
	1
	1
	1


 
d.
 Reduce the following Boolean Expression using K-Map:

 3

F(U,V,W,Z)= π(0,1,2,4,5,6,8,10)
7
a.
 Define the term Bandwidth. Give any one unit of Bandwidth. 
1

b.
 When do you prefer XML over HTML and why? 


1

c.
 How firewall protect our Network? 




1

d.
 What is the importance of URL in networking? 



1

e.
 Integrated Electronics has set up its new center at Kaka Nagar for its office and web based activities. The company compound has 4 buildings as shown in the diagram below: 
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Center to center distances between various buildings is as follows:

	Sigma Mall to Unity Building
	50 m

	Unity Building to Utility building
	60 m

	Utility Building to Forum Mall
	25 m

	Forum Mall to Sigma Mall
	170 m

	Sigma Mall to Utility Building
	125 m

	Unity Building to Forum Mall
	90 m


Number of Computers in each of the buildings is follows:

	Sigma Mall
	15

	Unity building
	150

	Utility Building
	15

	Forum Building
	25


e1.
Suggest a cable layout of connections between the buildings.

e2.        Suggest the most suitable place (i.e. building) to house the server of this 
organization with a suitable reason.

e3.
 Suggest the placement of the following devices with justification:

(i) Internet Connecting Device/Modem

(ii) Switch

e4.      The organisation is planning to link its sale counter situated in various 

parts of the same city, which type of network out of LAN, MAN or WAN will be formed? Justify your answer.

f.
 Compare freeware and Shareware. 




1

g.
 How Trojan Horses are different from Worms? Mention any one difference. 








1
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